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T g e £ G 40 140
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S| FERER | Mk R H - e KEER | RAAIT
WARJeHE 140
fifl o (e &) 350
fLE ALk 140
AER 140
IR R 140
R B 140
AR E 140
Hi PG 2 40
BB 140
Wk P AR AR ) 140
VK g e £ G 40 140
WK e 140
103 filf 11 WK ek (&) 350 1650 | 200 1850
fLEAL 140
AER 140
WHRID R 140
BwIb 2 140
AR E 140
Hi PG 2 40
BRI R 140
R P AR AR A 140
VK g e £ G 40 140
WA H 140
104 a3 WK ek (&) 350 1650 | 200 1850
L&A Lk 140
AER 140
TR R 140
BRI R 140
AR E 140
oG 40
BRI 2 140
Wk P AR AR ) 140
TG g e ] £ 40 140
WA JBH 140
105 fiyi £ oK fisfl s (e &) 350 1650 | 200 1850
L&A Lk 140
AER 140
IR R 140
BRI R 140
AR E 140
ZHHER 140
106 | JEHAEA KA BB 140 2415 | 200 2615
Wk P AR AR ) 140
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VK g e £ 40 140
WARJeHE 140
fifl s (e &) 350
RS 175
3 2 175
A 140
AER 140
IR E 140
BRI R 140
T e 175
TEHER 140
AR E 140
EQIEZNN 140
Bt A 140
Wk P AR AR ) 140
T g e A G 40 140
WK e 140
ek (&) 350
AR S 175

107 | HEJEHRA i 3o % L 175 2415 | 200 2615
A 140
AER 140
IR R 140
BRI R 140
W e 175
+TEHER 140
AU E 140

4-FRE ORI (ML 4-FHR A S

i) 105
. - 6" A RIS (6-BA) 105

108 SR T3 W (oL Cd D) . 392 100 492
£y (LA Pb 1) 56
WA ER (B S0z 1) 70

4-FRE ORI (ML 4-FE KA S

i) 105
- o 6" FE RIS (6-BA) 105

109 Pk T (5L Cd b P 392 100 492
£y (LA Pb 1) 56
WA ER (B S0z 1) 70
HhZE KA 40

110 4 4 i%}ﬁ% 140 2455 | 200 2655
By 2 140
R P AR AR A 140
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S| FERER | Mk R H - e KEER | RAAIT
VK g e £ 40 140
WARJeHE 140
fifl s (e &) 350
RS 175
3 2 175
AER 140
R R 140
BRI R 140
W e 175
7S~ 140
TEHER 140
AR E 140
Biaib 2 140
Wk P AR AR ) 140
TG g e ] £ 40 140
WK Je 140
fiffl s (e &) 350
AR S 175
111 3 *W 3 2 175 2135 | 200 2335
AER 140
R R 140
BwIb 2 140
T s 175
+THER 140
AR E 140
BRI R 140
R P AR AR A 140
TG g e ] £ 40 140
WA JBH 140
fifl o (e &) 350
AR 175
112 3 *W 3 2 175 2135 | 200 2335
AER 140
IR R 140
R B 140
W e 175
+THR 140
AR E 140
EQIEZNN 140
BRI 2 140
113 LY PLT WK e 140 1190 | 100 1290
ek (B & 350
AER 140
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R R 140
AR E 140
B (LA cd i) 56
A AE (BUB ) 52.5
114 yizes TR i3 i0 175 392 100 492
£y (LA Pb 11) 56
B (LUIR 1) 52.5
B (LL Crit) 56
115 ANS) [FES (LA Pb it) 56 287 100 387
TR A 175
B (L Cr it) 56
116 oSG FES 5 (LA Pb 1) 56 287 100 387
TR A 175
B (LA Crit) 56
117 T FES % (BA Pb 1) 56 287 100 387
MR R A 175
2Tk A e 105
VA 105
FH R 105
LAY 105
118 Hid FE A R e R UL R 05 840 100 940
— Mk 105
K Vi i 105
ARR 105
ATk FH A e 105
[SpYs: 105
GiEE 0 105
el 105
119 ¥ L H U e P R AU A 0 840 100 940
— Mk 105
TK i 1ok 105
AURR 105
EQUEZNN 140
BB 140
WA JeHE 140
120 P LY fisfl s (e &) 350 1190 | 100 1290
AER 140
IR R 140
AR E 140
A (LTI 52.5
121 Ak ATIRE (LA Pb i) 56 161 100 261
Fe 4 (AR WG i1) 52.5
122 sk TR 5 (A cd i) 56 392 100 492
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A AE (LT 52.5
7 M85 5 2 B 175
£y (LA Pb 1) 56
me i (AR WG i1) 52.5
PN 105
IR 105
GiEE20: 105
NE] 105
123 ¥ L H U e 1 e AU A 0 840 100 940
— I 105
TK it 1ok 105
R 105
EQIEZNN 140
Bt A 140
WA JBH 140
124 fif X5 2 PLT fisfl o (e &) 350 1190 | 100 1290
AER 140
IR R 140
AR E 140
A AE (LI 52.5
125 1k AR (LA Pb i) 56 161 100 261
B (LUIR 1) 52.5
4-FRE IR (ML - R AT
i) 105
. - 6" A RIS (6-BA) 105
126 g T3 W (oL Cd D) . 392 100 492
£y (LA Pb 1) 56
TR EL (BA SO2 i) 70
EQUEZNN 140
Bt A 140
R P AR AR A 140
VK g e £ G 40 140
WA H 140
ek (&) 350
RS 175
127 | HEhAERA A v 2 % 175 2415 | 200 2615
A 140
AER 140
IR R 140
BRI R 140
W el 175
TEHER 140
AR E 140
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ZHHER 140
BRI R 140
W P AR AR ) 140
TG g e ] £ 40 140
WA JBH 140
fiffl S (e &) 350
X 175
128 | JHJEHEA A S 2 175 2415 | 200 2615
A 140
AER 140
R R 140
b N 140
W e 175
THER 140
AR E 140
ZHHER 140
BRI 2 140
W g e W A R A 140
W g 2z PR AR A 140
R P AR AR A 140
VK g e £ G 40 140
WARJeHE 140
ek (& 350
129 X i ) PN AP 0 2450 | 200 2650
CER 140
AER 140
TR R 140
BRI R 140
Wi A 140
UEZS N 140
THER 140
AR E 140
EQUEZNN 140
BB 140
R T R A R 140
Wk 2z KA ) 140
Wk P AR AR ) 140
130 X0 Jh A PN TG g e ] £ R 4 140 2450 | 200 2650
WA JBH 140
fisfl s (e &) 350
& W i 0
EHR 140
AER 140
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R R 140
b N 140
Whi R 140
7S~ 140
+TEHER 140
AR E 140
ZHHER 140
BB 140
WA JBH 140
131 X X ek (&) 350 1190 | 100 1290
AER 140
WHRID R 140
AR E 140
EQUEZNN 140
Bt B 140
R P AR AR A 140
T g e A G 40 140
WA H 140
fidfl 2 (e &) 350
AR 175
132 | A Tife A A S 2 % 175 2415 | 200 2615
A 140
AER 140
IR E 140
R B 140
W e 175
THER 140
AR E 140
EQUEZNN 140
BRI R 140
R P AR AR A 140
TG g e ] £ 40 140
WA JBH 140
ek (&) 350
Xt 175
133 | W JERERA A v % % 175 2415 | 200 2615
A 140
AER 140
IR E 140
R B 140
W e 175
+THER 140
AR E 140
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S| FERER | Mk R H - e KEER | RAAIT
ZHHER 140
Bt A 140
WK T R AR 140
W g 2 PR A R A 140
Wk P AR AR ) 140
VK g e £ G 40 140
WARJeHE 140
firdflz 2 (e &) 350
134 X i ) PN AP 0 2450 | 200 2650
EHR 140
AER 140
WHRID R 140
BRI R 140
Wi A 140
7S~ 140
THER 140
AR E 140
EQUEZNN 140
BB 140
W T R AR 140
Wk 2z AR ) 140
R P AR AR A 140
TG g e ] £ 3 40 140
WA JBH 140
fifl o (e &) 350
135 PN PET EALlbi 0 2450 | 200 2650
CHR 140
AER 140
IR R 140
BwIb 2 140
WHi R 140
7S~ 140
+THR 140
AR E 140
A (BT 52.5
136 Ak ATIRE (LA Pb i) 56 161 100 261
Fe 4 (LURE WG i1) 52.5
i FE KA 40
EQIEZNN 140
Bt A 140
137 A 4 Ty 0 2455 | 200 2655
TG g e ] £ R 4 140
WA JBH 140
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S| FERER | Mk R H - e KEER | RAAIT
fifl o (e &) 350
AR 175
K% M 175
AER 140
IR R 140
BwIb 2 140
T e 175
7S~ 140
+THER 140
AR E 140
Bt A 140
R P AR AR ) 140
TG g e ] £ R 4 140
(I NEES 140
fidfiz 2 (e &) 350
TARES 175
138 FH FRA 3o % L 175 2135 | 200 2335
AER 140
IR R 140
b N 140
T e 175
+ER 140
AR E 140
EQIEZNN 140
Bt A 140
R P AR AR A 140
TR g e £ G 40 140
(I NEES 140
ek (B &) 350
AR 175
139 i il v 2 % 175 2315 | 200 2515
AER 140
IR R 140
BRI R 140
T e 175
+ER 140
AR (LR A1) 40
AR E 140
EQIEZNN 140
Bt A 140
140 | HHEBA A R P AR AR ) 140 2415 | 200 2615
TG g e ] £ R 4 140
WA JE 140
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S| FERER | Mk R H - e KEER | RAAIT

fifl o (e &) 350
AR 175
K% M 175
A 140
AER 140
R R 140
BwIb 2 140
W s 175
+THER 140
AR E 140
ZHHER 140
BRIy 2 140
Wk P AR AR ) 140
TG g e ] £ 3 40 140
WA JBH 140
fisfl o (e &) 350
Xt 175

141 | JEJEHEA A 3 2 175 2415 | 200 2615
A 140
AER 140
R R 140
BwIb 2 140
T s 175
+THER 140
AR E 140
ZHHER 140
BRI 2 140
Wk P AR AR ) 140
TG g e ] £ 3 40 140
WARJeHE 140
fifl o (e &) 350
RS 175

142 HAER KA S 2 175 2415 | 200 2615
A 140
AER 140
WRID 2 140
BRI R 140
T e 175
+THER 140
AR E 140
ZHHER 140

143 XG4 PN BB 140 2450 | 200 2650
W g e W A R A 140
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S| FERER | Mk R H - e KEER | RAAIT
W 2z AR ) 140
R P AR AR A 140
VK g e £ G 40 140
WA JBH 140
ek (B & 350
& W i 0
CER 140
AER 140
IR R 140
BRI R 140
Whi R 140
IEZS N 140
+THER 140
AR E 140
EQIEZNN 140
Btk A 140
R T R A R 4 140
W g 2z PR AR 140
Wk P AR AR ) 140
VK g e il A G 40 140
WARJeHE 140
fifl o (e &) 350
144 X5 P P & W i 0 2450 | 200 2650
EHR 140
AER 140
R R 140
BwRIb 2 140
Wi A 140
7S~ 140
+TEHER 140
AU E 140
EQIEZNN 140
BB 140
W g e W A R A 140
Wk 2z KA ) 140
R P AR AR A 140
145 X i ) PN uﬂ@fﬁﬁw% 10 2450 | 200 2650
A JEFH 140
fidfi 2 (e &) 350
& W i 0
CER 140
AER 140
IR E 140
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BwIb 2 140
WHib R 140
UEZS N 140
+TEHER 140
AR E 140
ZHHER 140
Bt A 140
W g e W A R A 140
W g 2 PR AR 140
Wk P AR AR ) 140
VK g e £ G 40 140
WK e 140
ek (&) 350

146 X Jh Y PN AP 0 2450 | 200 2650
EHR 140
AER 140
WHRID R 140
BRI R 140
WA 140
UEZS N 140
+TEHER 140
AU E 140
EQUEZNN 140
BB 140
WK T R AR 140
W 2z AR ) 140
R P AR AR A 140
TG g e ] £ 40 140
WA JBH 140
fifl o (e &) 350

147 pE5l] A5 EALlbi 0 2450 | 200 2650
EHR 140
AER 140
IR R 140
BwIb 2 140
VEDRULE 140
7S~ 140
+THER 140
AR E 140
ZHHER 140
X , BiEI R 140

148 X i ) X A ey 0 2450 | 200 2650
W g 2 PR AR 140
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R P AR AR A 140
VK g e £ G 40 140
WARJeHE 140
ek (B & 350
EALLPSHIES 0
CER 140
AEE 140
IR E 140
BRI R 140
Wi A 140
UEZS N 140
+ER 140
AR E 140
4-FRE ORI (ML 4-FH R AT
i 105
fRit)

149 SRS T 6 IRIRIRIY (6-BA) 1 392 100 492
£ (LA Cd 1) 56
5 (LA Pb 1) 56
WA ER (B S0z 1) 70
Hh P P 40
BRI R 140
R P AR AR ) 140
VK g e £ 40 140
(I NEES 140

150 i WK ek (& 350 1510 | 200 1710
L&A Lk 140
AEE 140
R R 140
BRI R 140
AR E 140




